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Compulsory term paper Open Economy Macroeconomics Fall 2006

Note: You are required to answer question 1 and at least one of questions 2 and 3. You
are expected to use a formal model and state the assumptions underlying the model.

1. The foreign exchange market has been hit by a shock, which has caused the exchange
rate F to depreciate below its expected equilibrium level. Discuss in the context of the
“simple portfolio model” of chapter 1 of Rgdseth (2000) how, and with what degree
of success, the central bank could act to restore the equilibrium level when there is:
(a) zero capital mobility; (b) intermediate capital mobility; and (c) infinite capital
mobility. Also briefly describe the link between the risk premium and capital mobility.

2. Consider the two-country two-period model with investment discussed in chapter 1 of
Obstfeld&Rogoff (1996). Assuming isoelastic preferences; what determines the slopes
of the saving and investment schedules? How is the world real interest rate determined?
When is it optimal for a country to run a first-period current account deficit. What
factors cause the equilibrium real interest rate to move? To what extent is this model
relevant for explaining the large U.S. current account deficits and the low levels of
world real interest rates of recent years?

3. Consider the stochastic version of the infinite-horizon small open endowment econ-
omy in chapter 2 of Obstfeld&Rogoff (1996). The period utility function is quadratic
and the subjective discount factor [ satisfies 5(1 + r) = 1,where r is the exogenous
world real interest rate. What do we mean by rational expectations? Show that the
consumption Euler equation together with the rational expectations assumption imply
that consumption follows a random walk. How would you test this hypothesis empiri-
cally? What do we mean by certainty equivalence? Does certainty equivalence hold in
this model? The endowment Y; follows the process

Y=Y =p (Y1 —Y) +e,

where the disturbance €; has expectation zero and is serially uncorrelated. Assume that
£ = 0.99 and that the initial net foreign asset position of the economy is zero. Compute
the dynamic responses up to twenty periods of output, consumption, net foreign assets
and the current account balance following an unexpected one unit negative output
innovation in period ¢ (¢, = —1) when (a) p = 0; (b) p = 1; and (c) p = 0.85. In each
case state which variables are stationary (i.e., revert to their original levels after the
shock) and which variables are nonstationary (i.e., shift permanently). Explain the
economic intuition behind the results.

Good luck!



